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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your

answer sheet.

61- The village can only be ... by travelling through a forest whose animal diversity is amazing.

1) accessed 2) guided
3) surrounded 4) arranged
62- The coronavirus is so deadly that it has filled the whole world with horror, and unfortunately,
doctors are still unable to find a/an ... solution to cure its victims.

1) variable 2) practical
3) natural 4) bilingual
63- Some scientists believe that the average length of time an animal species lives depends ... on its

genes, but can be affected by other factors.
1) equivalently 2) gradually
3) repeatedly 4) primarily
64- Most of the military’s efforts have focused on defenses against biological weapons, not viruses that
arise naturally or are ... by the community spread.

1) varied 2) informed
3) transmitted 4) measured
65- The .. of the washing machine was generating a terrible noise, making it difficult to concentrate.
1) range 2) vibration
3) ability 4) creation
66- |1 didn’t know if 1I’d hurt him enough to drive him away ... or if there was a small part of him that
still wanted me.
1) never 2) forever
3) well 4) instead
67- Because the setup uses a large LED video wall, not a projector, movies can be played before
sundown and still be seen ... .

1) fluently 2) rarely
3) honestly 4) easily
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

Jeff is at MIT working as a researcher on electricity. Jeff tries to ...(68)... new solutions by
thinking creatively. Jeff has been working on how to get Solar power. Jeff says, “Solar power is

...(69)... the light we get from the Sun into usable electrical energy.” Solar power is different from
oil, gas, or coal because it is what is called renewable energy. This means that its source ...(70)...
when we use the energy, as happens with gas, for instance, which burns away. Jeff has made
something called an absorber. It takes the heat from something hot, like the sun, and turns it into
energy. Absorbers are very small. They are special ...(71)... made out of silicon and other
materials. These panels can absorb and convert each photon coming from the sun, into an electron.
These electrons can be used to make ...(72)... . This can power anything, like a toaster, a TV, or
even some cars.

68- 1) replace 2) stick to 3) offer 4) give off

69- 1) leading 2) converting 3) absorbing 4) demanding

70- 1) doesn’t consume 2) aren’t consumed 3) didn’t consume 4) isn’t consumed
71- 1) stations 2) panels 3) radiations 4) pools

72- 1) fuel 2) turbine 3) electricity 4) coal

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1

Despite their huge size and having many more cells than humans, cancer among elephants is
quite rare, and new research may explain why. “It turns out that elephant cells have 38 additional
modified copies (alleles) of a gene that encodes p53, a well-defined tumor suppressor, as compared
to humans, who have only two,” researchers at the University of Utah said in a study appearing in
today’s issue of the Journal of the American Medical Association (JAMA).

The report also says elephants also have a “more robust mechanism for killing damaged cells”
that could become cancerous. According to the researchers, among isolated elephant cells,
damaged and possibly precancerous cells are destroyed at twice the rate of healthy human cells and
five times the rate of human cells with Li-Fraumeni Syndrome, with only one working copy of p53.
People with this syndrome have more than 90 percent lifetime cancer risk in children and adults.

Because elephants have more than 100 times the number of cells of human, they would seem to
have 100 times more chance of becoming cancerous. But this is not the case. “By all logical
reasoning, elephants should be developing a tremendous amount of cancer, and in fact, they should
be extinct by now due to such a high risk for cancer,” said Joshua Schiffman, a pediatric oncologist
at the Huntsman Cancer Institute at the University of Utah School of Medicine in a statement. “We
think that making more p53 is nature’s way of keeping this species alive.” In fact, his research
indicates that elephants, living between 50 and 70 years, have a cancer mortality rate of just under
five percent, compared to 11 to 25 percent in humans.

73- Based on the passage, damaged and possibly precancerous cells in people having Li-Fraumeni
Syndrome are destroyed ... :

1) at the same rate of healthy human cells 2) at five times the rate of elephant cells
3) much faster than healthy human cells 4) five times slower than elephant cells
74- According to Joshua Schiffman’s scientific findings, ... .

1) humans have more genes that encode p53 than elephants do
2) it is predicted that elephants are going to be extinct because of cancer
3) cancer mortality rate in elephants is lower than that of humans

4) humans naturally produce more p53 comparing to elephants .
abadgaranedu.ir
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75- The writer of the passage mainly wants to say that ... :

1) all the efforts to cure the cancer have been ineffective so far

2) people with Li-Fraumeni Syndrome have a higher cancer risk

3) p53 plays an important part in destroying cancerous cells

4) elephants’ huge size helps them to handle cancerous cells

76- The underlined pronoun “they” in the third paragraph refers to ...

1) cells 2) elephants 3) people 4) cancerous cells

Passage 2

It is easy to make a delicious hamburger at home. But would this hamburger still look delicious
after it sat on your Kitchen table under very bright lights for six hours? If someone took a picture
or made a video of this hamburger after the sixth hour, would anyone want to eat it? More
importantly, do you think you could get millions of people to pay money for this hamburger? These
are the questions that fast food companies worry about when they produce commercials or print
ads for their products. Video and photo-shoots often last many hours. The lights that the
photographers use can be extremely hot. These conditions can cause the food to look quite
unappealing to potential consumers. Therefore, the menu items that you see in fast food
commercials are probably not actually edible.

The first step towards building the perfect commercial hamburger is the bun. The food stylist
sorts through hundreds of buns until he or she finds one with no wrinkles. Next, the stylist
carefully rearranges the sesame seeds on the bun using glue and tweezers for maximum visual
appeal. The bun is then sprayed with a waterproofing solution so that it will not get soggy from
contact with other ingredients, the lights, or the humidity in the room.

Next, the food stylist shapes a meat patty into a perfect circle. Only the outside of the meat gets
cooked—the inside is left uncooked. The food stylist then paints the outside of the meat patty with a
mixture of oil, molasses, and brown food coloring. Grill marks are painted into the meat using hot
metal skewers.

Finally, the food stylist searches through dozens of tomatoes and lettuce to find the best-looking
produce. One leaf of lettuce and one center slice of the reddest tomato are selected and then
sprayed with glycerin to keep them looking fresh. Now the question is, “Are you still hungry?”.

77- The author’s primary purpose is to ... .

1) make readers accept not to eat at fast food restaurants

2) explain how fast food companies make their food look delicious in commercials
3) teach readers how to make delicious-looking food at home

4) criticize fast food companies for lying about their products in commercials

78- As used in paragraph 1, something is edible if it ....... :

1) can safely be eaten

2) looks very delicious

3) seems much smaller in real life

4) tastes good

79- According to the passage, a food stylist working on a hamburger commercial might use glue to ... :

1) make sure the meat patty stays attached to the bun

2) keep the sesame seeds on the bun in perfect order

3) arrange the lettuce on the tomato

4) hold the entire hamburger together

80- Based on the information of the passage, it is most important for the lettuce and tomato used in a
fast food hamburger commercial to ... .

1) have a great taste 2) be in the perfect shape and size

3) appear natural 4) look fregsh
abadgaranedu.ir
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Part A: Grammar
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1),(2),(3),
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

1- The report would have been accepted ... in checking its accuracy.
1) more care had taken 2) more care had been taken 3) had taken more care 4) had more care been taken
2- The traditions in our family ... from generation to generation, and I expect this will continue in the future.

1) are going to be passed down 2) may have been passed down
3) had been passed down 4) have been passed down
3- “I am leaving the city tomorrow,” the lecturer said. He said ... leaving the city ... .
1) he was — the following day 2) I was — the previous day
3) he was — that day 4) he is — tomorrow

4- Musical concerts, ... popular music of various kinds, have become one of the most common forms of
entertainment in the United States.

1) to feature 2) feature 3) which feature 4) which featuring
5- I spoke with them one by one, and ... told me a different story.
1) each 2) every 3)all 4) any
6- When I last spoke to my mother, she ... me a letter, so she didn’t want to repeat her news over the phone.
1) sent 2) has sent 3) had been sent 4) had sent
7- Among ... men, it was ... who always acted as an interpreter.
1) we — him 2) us — he 3) us — him 4) we — he
8- Because of the direction in which the Earth revolves, ... sun always rises in ... east and sets in ... west.
1) the/ -/ — 2) —/ the/ the 3) the/ the/ the 4)—/—/ -
9- Silver is too soft to use by ..., so it is mixed with ... metal to make it harder.
1) it — the other 2) itself — another 3) it — another 4) itself — the other
10- Becoming self-employed, together with sick leave and long vacation time, ... giving up a secure salary.
1) means 2) mean 3) is meant 4) are meant

Part B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1), (2),
(3) and, (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

11- Critics, TV executives and its ... audience raved about the show, making it seem more influential in Britain
than perhaps it really was.

1) curious 2) devoted 3) charismatic 4) concerned

12- Looking back at my junior high years, most of the things that felt like a big deal at the time seem ... in retrospect.
1) boundless 2) constant 3) enormous 4) trivial

13- Changes in the suburbs will help ... a sense of genuine belonging and personal security.
1) offend 2) foster 3) convince 4) conquer

14- She made a brief foray into the world of journalism before finding herself totally ... with its demanding nature.
1) dishonored 2) disqualified 3) disillusioned 4) disdainful

15- As his penchant for eating chocolate cake was exasperating him, he made a ... to put an end to this frequent desire.
1) solution 2) resolution 3) compensation 4) regulation

16- The actor is not good at improvisation because he lacks ... in movement and dialogue.
1) carriage 2) deportment 3) spontaneity 4) grace

17- They confirmed the importance of strengthening global precautions in order to prevent ... losses.
1) devastating 2) delightful 3) exhilarated 4) discriminating

18- At the shelter, they ... many homeless people with three meals a day, a shower, and a bed to sleep in.
1) flourish 2) slumber 3) furnish 4) withhold

19- Describe fully what took place, in a way which will ... the feelings and sympathy of your readers.
1) rise 2) arouse 3) recount 4) recur
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20- After all the irresponsible decisions he made, Gilford still ... the ambition of becoming the captain of the team.
1) defends 2) seeks 3) nurses 4) delegates
21- The film also focuses on the scars left on the river as a result of ... sand mining and the consequent effect on
flora and fauna.
1) dependent 2) comparable 3) restrained 4) indiscriminate
22- An ice floe converging toward another and pushing against it will generate a state of compression at the ...
between both.
1) boundary 2) extension 3) particle 4) district
23- There was a great paucity of information and it was nearly futile to ... about whether finding a vaccine was not
going to be a long haul for good.
1) ascertain 2) speculate 3) evaluate 4) specify
24- The surviving members of the family were so ... by the vivid images of the accident that they found their
wounds worse than the escaped death.

1) shaken 2) disgusted 3) affected 4) bewildered
25- The whole world was ... with an insurmountable problem which turned living one’s previous life into a great
expectation.
1) bombarded 2) addressed 3) alienated 4) plagued

Part C: Word Order
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer
sheet.

26-
1) Very large intakes of any of the essential nutrients may result in both undesirable toxic symptoms and seriously
side effects.
2) Very large intakes of any of the essential nutrients may result in both undesirable toxic symptoms and serious
side effects.
3) Very large intakes of any of the essentially nutrients may be resulted in both undesirable toxic symptoms and
serious side effects.
4) Very large intakes of any of the essential nutrients may result in either undesirable toxic symptoms nor
seriously side effects.

27-
1) Mrs. Thomas was announced that no student under the age of 15 could become a prefect.
2) No student is under the age of 15 Mrs. Thomas announced that could become a prefect.
3) Mrs. Thomas announced that no student under the age of 15 could become a prefect.
4) No student under the age of 15 that Mrs. Thomas announced couldn’t become a prefect.

28-
1) Considered as one of the greatest physicists, the relationship between force and motion was first expressed by Newton.
2) Considered as one of the greatest physicists, the first to express the relationship between force and motion was Newton.
3) Considered as one of the greatest physicists, Newton was the first to express the relationship between force and motion.
4) Considered as one of the greatest physicists, it was Newton who was the first to express the relationship
between force and motion.

29-
1) The rate of the sun’s radiate is such great that about 3 million tons of matter is converted into energy every second.
2) The rate of the sun’s radiation is so great that about 3 million tons of matter is converted into energy every second.
3) The rate of the sun’s radiation is so great that about 3 million tons of matter are converted into energy every second.
4) The rate of the sun’s radiate is such great that about 3 million tons of matter are converted into energy every second.

30-
1) Morse invented a code which letters, numbers, and punctuating are changed into short and long signals which
call dots and dashes.
2) Morse invented a code to whom letters, numbers, and punctuation are changed into short and long signals
which call dots and dashes.
3) Morse invented a code which letters, numbers, and punctuating are changed into short and long signals called
dots and dashes.
4) Morse invented a code in which letters, numbers, and punctuation are changed into short and long signals
called dots and dashes.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing
one of the choices (1),(2),(3), or (4). Then mark the correct choice on your answer sheet.

A: “Hey Jane. How are things?”

B: “Going well, Dave. What’ve you been up to lately?”
A: “Oh, I’ve been busy doing a research on the pros and cons of using new chemicals in cancer treatment.

By the way, did you ...(31)... Sam alé.lhtatfglé?rgﬁ%e&ﬁinﬁabout?”
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B: “I haven’t been able to reach him yet. But the decision is really not up to him anyway. Let me know if
you still want that contract. If you don’t, now is the time to ...(32)....”

A: “I was hoping Sam could ...(33)... and help me figure out a way to get it. Qur business is ...(34)... right
now, but we have some good contracts coming up, and that contract would be a great start. I’ll try calling
Sam myself. If we can’t ...(35)... a solution, we’ll have to ...(36)... the deal.”

B: “Well, good luck then. It’s hard to ...(37)... a dream! Let me know what you decide.”

A: “I will. Take care!”.

31- 1) get hold of 2) get along with 3) get out of 4) get in
32- 1) turn out 2) back out 3) back up 4) turn in
33- 1) throw a rope 2) take out the ropes 3) bring the ropes 4) show me the ropes

34- 1) in the black
35- 1) come out of

2) in the red
2) come down

3) into the blue
3) come up with

4) in seventh heaven
4) come after

36- 1) call off 2) call up 3) call away 4) call over
37- 1) give away 2) give off 3) give in 4) give up
A: Can you loan me some money?
B: ...(38)... I can’t. I’ve already gone through my paycheck for the week.
A: This quickly? I thought you were ...(39)....
B: Not me! You know money always ...(40)... in my pocket.
38- 1) I'm terrified 2) ’'m scared 3) I'm afraid 4) I panicked

39- 1) well-off
40- 1) looks up

2) off guard
2) burns a hole

3) in a bit of a state
3) arrives on the dot

4) down the drains
4) gets off the ground

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1),(2),(3), or (4) best fits each space. Then mark the correct
choice on your answer sheet.

Many signals that animals ...(41)... on the signalers costs that are overly damaging. A classic example is noisy
begging by nestling songbirds ...(42)... a parent returns to the nest with food. These loud cheeps and peeps
might give the location of the nest away to a listening hawk or raccoon, ...(43)... the death of the defenseless
nestlings. ...(44)..., when tapes of begging tree swallows were played at an artificial swallow nest containing
an egg, the egg in that “noisy” nest was taken or destroyed by ...(45)... before the egg in a nearby quiet nest in
29 of 37 trials.
Further evidence for the costs of begging comes from a study of differences in the begging calls of warbler
...(46)... that nest on the ground versus those that nest in the relative safety of trees. The ...(47)... of ground-
nesting warblers produce begging cheeps of higher frequencies than ...(48)... their tree-nesting relatives.
These higher-frequency sounds do not travel as far, and so may better ...(49)... the individuals producing
them, who are especially vulnerable to predators in their ground nests. David Haskell created artificial nests
with clay eggs and placed them on the ground ...(50)... a tape recorder that played the begging calls of
«..(51)... tree-nesting or of ground-nesting warblers. The eggs “advertised” by the tree-nesters’ begging calls
«.«(52)... significantly more often than the eggs associated with the ground-nesters’ calls.
The hypothesis that begging calls ...(53)... properties that reduce their potential for attracting predators
...(54)... a prediction: baby birds of species that experience high rates of nest predation should produce softer
begging signals of higher frequency than nestlings of other species less often victimized by nest predators.
This prediction was supported by data collected in one survey of 24 species from an Arizona forest, more
evidence that predator pressure ...(55)... the evolution of begging calls that are hard to detect.

41- 1) make seem to impose 2) are made seem to impose

3) making to seem imposing 4) made to seem imposing

42- 1) which 2) when 3) where 4) how

43- 1) resulted in 2) resulting to 3) resulted to 4) resulting in

44- 1) In fact 2) On the contrary 3) However 4) In short

45- 1) preys 2) debris 3) predators 4) virtues

46- 1) species 2) gadgets 3) missiles 4) incentives

47- 1) younger 2) young 3) youngest 4) more young
48- 1) doing 2) are 3) do 4)is

49- 1) pinpoint 2) appease 3) assemble 4) conceal

50- 1) at least 2) beside 3) despite 4) almost

51- 1) either 2) neither 3) whether 4) nor

52- 1) find biting 2) were found bitten 3) found bitten 4) are found biting
53- 1) are evolved 2) evolved 3) have evolved 4) which are evolved
54- 1) yields 2) occupies 3) ignores 4) bargains

55- 1) restrains 2) favors 3) isolates 4) survives

abadgaranedu.ir
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best
choice (1,2,3) or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1
Certainly no creature in the sea is odder than the common sea cucumber. All living creatures, especially
human beings, have their oddities, but everything about the little sea cucumber seems unusual. What else
can be said about a strange animal that, among other eccentricities, eats mud, feeds almost continuously day
and night but can live without eating for long periods, and can be poisonous but is considered a very
delicious food at the same time?

For some fifty million years, despite all its eccentricities, the sea cucumber has lived on its diet of mud. It
is adaptable enough to live attached to rocks by its tube feet, under rocks in shallow water, or on the surface
of mud flats. Common in cool water on both Atlantic and Pacific shores, it has the ability to suck up mud or
sand and digest whatever nutrients are present.

Sea cucumbers come in a variety of colors, ranging from black to reddish brown to sand color and nearly
white. One form even has bright purple tentacles. Usually, the creatures are cucumber-shaped and because
they typically live on rocks, this shape, combined with flexibility, enables them to squeeze into cracks where
they are safe from predators and ocean currents.

Although they have uncontrolled appetites, eating day and night, sea cucumbers have the capacity to
become inactive and live at a low metabolic rate, feeding sparingly or not at all for long periods, so that the
marine organisms that provide their food have a chance to multiply. If it were not for this faculty, they
would devour all the food available in a short time and would probably starve themselves out of existence.

But the most spectacular thing about the sea cucumber is the way it defends itself. Its major enemies are fish
and crabs; when attacked, it squirts all its internal organs into water. It also casts off attached structures such
as tentacles. The sea cucumber will cut its own organs and regenerate itself if it is attacked or even touched; it
will do the same if the surrounding water temperature is too high or if the water becomes too polluted.

56- According to the passage, why is the shape of sea cucumbers important?
1) It helps them to digest their food. 2) It helps them to protect themselves from danger.
3) It makes it easier for them to move through the mud. 4) It makes them attractive to fish.

57- The fourth paragraph of the passage primarily discusses ... .

1) the reproduction of sea cucumbers 2) the food sources of sea cucumbers

3) the eating habits of sea cucumbers 4) threats to sea cucumbers' existence
58- What can be inferred about the defense mechanisms of the sea cucumber?

1) They are very sensitive to surrounding stimuli. 2) They are almost useless.

3) They require group cooperation. 4) They are similar to those of most sea creatures.
59- Which of the following would NOT cause a sea cucumber to release its internal organs into the water?

1) a touch 2) food 3) unusually warm water ~ 4) pollution
60- The underlined word “faculty” is closest in meaning to ... .

1) maintenance 2) disaster 3) department 4) ability
PASSAGE 2

The composer Wolfgang Amadeus Mozart’s great musical talent was apparent even before most children can sing
a simple nursery rhyme. Wolfgang’s older sister, Maria Anna (who the family called Nannerl) was learning the
clavier, an early keyboard instrument, when her three-year-old brother took an interest in playing. As Nannerl
later recalled, Wolfgang often spent much time at the clavier picking out thirds, which he was always striking, and
his pleasure showed that it sounded good. Their father Leopold, an assistant concertmaster at the Salzburg Court,
recognized his children’s unique gifts and soon devoted himself to their musical education.

Born in Salzburg, Austria, on January 27, 1756, Wolfgang had composed his first original work by age five.
Leopold planned to take Nannerl and Wolfgang on tour to play before the European courts. Their first venture
was to nearby Munich where the children played for Maximillian III Joseph. Leopold soon set his sights on the
capital of the Hapsburg Empire, Vienna. On their way to Vienna, the family stopped in Linz, where Wolfgang
gave his first public concert. By this time, Wolfgang was not only a virtuoso harpsichord player, but he had also
mastered the violin. The audience at Linz was stunned by the six-year-old, and word of his genius soon traveled
to Vienna. In a much anticipated concert, the Mozart’s children appeared at the Schonbrunn Palace on
October 13, 1762. They utterly charmed the emperor and empress.

Following this success, Leopold was inundated with invitations for the children to play, for a fee. Leopold
seized the opportunity and booked as many concerts as possible at courts throughout Europe. A concert could last
three hours, and the children played at least two per a day. Today, Leopold might be considered the worst kind of
a stage parent, but at the time, it was not uncommon for prodigies to make extensive concert tours. Even so, it was
an exhausting schedule for a child who was just past the age of needing an afternoon nap.

61- What was the consequence of Wolfgang’s first public appearance?
1) He charmed the emperor and empress of Hapsburg.
2) Invitations for the miracle children to play poured in.
3) Leopold set his sights on Vienna.

4) Word of Wolfgang’s genius spread to&bcaialg arane d u | r
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62- Each of the following statements about Wolfgang Mozart is directly supported by the passage EXCEPT ... .
1) Mozart’s father, Leopold, was instrumental in shaping his career
2) Maria Anna was a talented musician in her own right
3) Wolfgang’s childhood was devoted to his musical career
4) Wolfgang preferred the violin to other instruments
63- According to the passage, during Wolfgang’s early years, child prodigies were ... .
1) few and far between.
2) expected to play for courts throughout Europe.
3) expected to spend at least six hours per a day practicing their music.
4) accustomed to extensive concert tours.
64- Based on the information found in the passage, Mozart can best be described as ... .

1) a child prodigy 2) a workaholic

3) the greatest composer of the eighteenth century 4) a victim of his father’s ambition
65- The underlined word “exhausting” in the last sentence is closest in meaning to ... .

1) frightening 2) relaxing 3) tiring 4) desirable
PASSAGE 3

Nothing is sure but death and taxes, and of course that north is north and south is south, and thus it has
always been, so they say. But they’d be wrong. You can perhaps be sure about death and taxes, but you
might want to reconsider the rest of it. In fact, at many times in our planet’s history, north has become south
and south has become north, in a process called magnetic reversal. Paleogeologists have discovered the
existence of these mysterious phenomena by investigating rocks. When rocks are being formed from
magmas, atoms within their crystals respond to the earth’s magnetic field by pointing towards the magnetic
north pole. By age dating the rocks and noting their magnetic arrangement, scientists can determine where
on earth the North Pole was located at that time, because as the rocks hardened, they trapped that
information within them. The study of ancient lava flows and ash revealed that at certain periods in the
earth’s history, magnetic north was directly opposite to its present location. In fact, it has been determined
that the north/south reversal has occurred on average every 500,000 years and that the last reversal took
place about 700,000 years ago. Scientists call those periods of “normal” polarity (the magnetic orientation of
our modern era) and “reversed” polarity (the magnetic orientation of reverse situation) by the name
“magnetic chrons”.

Although the fact of such reversals is clear, why and how they happened and their effects on the planets are
subjects of considerable debate. Because no one knows precisely how the earth’s magnetic field is produced, it
becomes difficult to say how it might be reversed. Among expectations proposed are a reversal of the direction
of convection currents in the liquid outer core of the earth and a collision between the earth and a meteorite or
comet. And while the precise effects of a reversal are not known, there can be little doubt that the earth would
receive during the process a great deal more damaging ultraviolet radiation than it now does, and that such
occurrences have been correlated with the extinction of certain species in the geological past.

66- What is the purpose of the passage?
1) to draw an analogy between the process of taxing and the process of magnetic reversal
2) to explain what is meant by “normal” polarity
3) to set forth a timetable for magnetic reversal
4) to explain the process of magnetic reversal and how it was discovered
67- What does “magnetic reversal” refer to?
1) the reversal of direction in ancient lava flows
2) a reversal of the direction of convection currents in the outer core of the earth
3) north becoming south and south becoming north
4) the atoms in rock crystals pointing towards the magnetic north pole
68- According to the passage, which of the following was crucial to the discovery of magnetic reversal?
1) the rapid change from “normal” to “reverse” polarity
2) lava flows pointing to magnetic north
3) solidification of rocks formed from magmas
4) the extinction of certain species 700,000 years ago
69- One can infer from the passage that ... .
1) if the earth collides with a meteorite, the magnetic field will be reversed
2) a magnetic reversal could present a damage to humans
3) the earth’s magnetic field was produced about 700,000 years ago
4) in spite of past reversals, “normal” polarity is now firmly established
70- The underlined word “collision” is closest in meaning to ... .

1) correspondence 2) contrast 3) confusion 4) crash
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